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Q1. Polynomials can be represented as lists of pairs of coefficients and exponents.'| or example the
polynomial (4x* + 2x*~ x + 27) can be represented as the following Prolog list; [(4 5), (2 3), {-1,1), (27,0}]
Write a Prolog predicate poly_sum/3 for adding two polynomials using. that rep sehtatlon Trytofind a
solution that is independent of the ordering of pairs inside the two. glven Itsts 'lee\mse your output
doesn’t have to be ordered. Examples: [Marks: 3, C0-3]

?- poly_sum(((5,3}, {1,2)], [(1,3)], Sum).

Sum = [(6,3), (1,2)]

Yes

?- poly_sum(((2,2), (3,1), (5,0)], [{5,3), (1,1), (10,0)}, X).
X = [(4,1), (15,0), (2:2), (5,3)] T

Yes

Q2. Write all pessible Depth first 'tra'\;fe.rsa!s and breadth first traversals for the following graph:

[Marks: 3, CO-3]

Q3. Write the problem characteristics of 8- puzzle problem. How many minimum steps are required for
moving from initial state to final state in the below described problem: [Marks: 3, CO-1]



Final State

Initial State

1 |2 |3 1 12 |8
6 4

7 5 7 6 5]

Iy

Q4. Explain with example different types of environments in artificial agents? [Marks: 1, co-1]

Q5. Write the recursive pseudo code for Tower of Hanoi problem. Tower of Hanoi isa mai@e‘matical
puzzle. Traditionally, it consists of three poles and a number of disks of different s'ii'gé"wl;iéh can slide
onto any poles. The puzzle starts with the disk in a neat stack in ascending order of sizé,,_,iﬁ one pole, the
smallest at the top thus making a conical shape. The objective of the puzzle i:S"tQ!h’lQVE all the disks from
one pole (say ‘source pole’) to another pole (say ‘destination pole’) with t "i_,l]el'p of third pole {say
auxiliary pole). "t [Marks: 3, CO-3]

The puzzle has the following two rules:

1. You can't place a larger disk onto smaller disk
2. Only one disk can be moved at a time



